‘ Algebraic Fractions (Equations)

(\

' REVISE THIS
1S T

X+9 X+ 2
+
4

1 Solve =5

4(3c+ Q) + S(x+ 1) = S
20
b+ 36 +Sx+10 = 100

G +46 = LOD
Gx = S¢

x=0b

(Total for Question 1 is 3 marks)

x—1 X+ 4
2 Sol =
olve > + 5 8

S(x—1) + Ux+y) = R

1O
Sx-5 + r+ % =%0
Fx +3=R0
T = FF

' =11

1 (Total for Question 2 is 3 marks)
1
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X+5 X—2 _
3 7 T3

3 Solve

GoctS) - 2(x-2) = 3
) 2

bx+20 -2 +6=23(¢
x +26 = 36

x=10

(Total for Question 3 is 3 marks)

Wx+2)+ B(S5-x) = 2
LG

T+ 6 +40-Fx=4R
4b-Sx= 4R

-Sx= 2
- _
S
"
A= c

(Total for Question 4 is 3 marks)

2 {er PO *O-ﬂ
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3 1
5 Solve x+5+xT3 =2

3(%'\’%\ + x+S = l
(1+ Q)Y x+ ‘Q

e +94 + 2+C = 2(3@7? %ac+l5)
bae + \4 = 2x ™+ [bx +30

O = L%+ e +\6

O= 1+ 6x +R

©= (x+4% Y oa+2)

xX= b il

L

(Total for Question 5 is 4 marks)

2 3
6 Solve ~+3 T x_2 -1

2(-2) ¥3(Ler3) = )
(2 + ) (-2

Ix—4% + 62+ 4 = 2xx-x-6

B xS = U -x-6
O = Ww-qx —-\\
O = (oc-11Yoc+))

— ‘
-. x=4 x=-)
(Total for Question 6 is 4 marks)
3
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3x+1 1

7 Solve 1 ~ X3 =4
G +)O+) - (o) = &
(>¢+))(x+2)
B+ 10+ 3-x—| = 4(of +Ux +3)
ST AL = Lot vl 1L
O= x'+ Fx + 10
O = (c+S) x+
x= -5 = -2
(Total for Question 7 is 5 marks)
8 Solve 2 =3

Ax+1 x-3

7 (x-2) -2 3x+)) - 3
( Zoc+) % - )

- L -6 -1 = Y2t - 8x -3
x —15= Ax"- W2 -9

O = 9> -28x + &

O = Ae-FYx-2)

‘q/
X= 5 x="2

(Total for Question 8 is 5 marks)

4
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9 Solve 6 + 2 _2

X+7 x-5 7 3

6la-35)+2(xt3) . 9
(x+H)(x-5) 2

G - 30 +2x 41l = 5 (2* & 2 -39)
L(8x -6 ) = 22t 4+ Lx-70
2> -UR = Lx+ %x-%F0

O = 13- 10x-)L

O = xX*—10x-1l

O = (x =\W)(s+l)

\l

X=\l x=-|

(Total for Question 9 is 5 marks)

5x+ 2 X+8
10 Solve 1 x+3_2

G+ x+3) = (248 (x+)) -2
(e (e +2)

S +1¥ % +6 - x= -8= 2 (X" +lx +3)
b +8x-0 = 2xr + 8x+ 6
Ix- % = O
X -4 = O
(x+2Yx-2)= ©

L~ X==2 x=2
(Total for Question 10 is 5 marks)
5

www. 1stclassmaths.com

© 1stclassmaths


http://www.1stclassmaths.com/

u , r@ @1stclassmaths

11 Solve

2(2-2) + (-2x-1) - )
(2e-1Y2 -x) 4

L= X+ F2+3= (5 —1-77)
U (o -S5x+3 ) = G 2- 24"
o —201 +12 = Sx-2-24*

6 -2Sa+ly = O

(33(:1 KZDL—-_-‘-): O

oz F
L= = =77

(Total for Question 11 is 5 marks)

R
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1 X .. , a<Vb
12 Solve ——=— + ——= =-2  giving your answer in the form = @

where a, b and c are integers.

x+\ ¥ xfx-) - -]
( 2=V (e +)

x+\ ¢+ X —2x =-2(x"-x-2)
Yxr-2% + | = “lxtvra v
Lot --L= O
a= & b= -3 c=-3

x= 2F J ) =4 x 2x-23
G

X = 2+ /45 JuS = Ja {5
b = 3(s
x = 3+2[8
A

| £ VS
xX= —5

(Total for Question 12 is 6 marks)

7
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